MITSUBISHI
ELECTRIC

INVERTER gﬂ
Heatsink Protrusion Attachment

<FR-A8CNO01 to 09>

Thank you for choosing this Mitsubishi inverter option unit.

This Instruction Manual provides handling information and precautions for use of the equipment. Incorrect handling might
cause an unexpected fault. Before using this product, always read this Instruction Manual carefully to use this product
correctly.

Please forward this Instruction Manual to the end user.

SAFETY INSTRUCTIONS

&While power is ON or for some time after power-OFF, do not touch the inverter and attachment since they will be
extremely hot. Touching these devices may cause a burn.

AThe product must be transported in correct method that corresponds to the weight. Failure to do so may lead to injuries.
Special attention must be paid to the edges of the product.

AForeign conductive objects must be prevented from entering the inverter. That includes screws and metal fragments or
other flammable substance such as oil.

This attachment allows approximately 70% of the heat generated by the inverter to be radiated outside the enclosure by
protruding the inverter heatsink section out from the rear side of the enclosure.

1 ENCLOSED ITEMS

Check the attachment model, and check that the following items are enclosed with the indicated quantity.

S Enclosed Attachment model

u% items FR-A8CNO01 | FR-A8CN02 | FR-A8CNO03 | FR-A8CN04 | FR-A8CNO05 | FR-A8CNO06 | FR-ASCN07 | FR-ASCN08 | FR-ASCN09
Upper

a |installation 1 1 1 1 1 1 1 1 1
frame

b |Upper cover 1 1 1 1 1 1 1 1 1
Lower

¢ |installation 1 1 1 1 1 *] *1 *] *]
frame
Upper/lower

g |frame 4 (M5-12) | 4 (M5-10) | 4 (M5-10) | 4 (M8-16) 2 . 2 2 2
installation
screw
Cover

e |installation 2 (M4-8) | 3 (M4-10) | 3 (M4-10) | 4 (M4-10) | 4 (M4-10) | 4 (M4-10) | 4 (M4-10) | 4 (M4-10) | 4 (M4-10)
screw

£ Right installation . _ _ _ 1 1 1 1 1
frame

g Left installation . . . . 1 1 1 1 1
frame
Left/right frame

h |installation — — — — 4 (M4-10) | 4 (M4-10) | 4 (M4-10) | 4 (M4-10) | 4 (M4-10)
screw

x]1  For the FR-A8CNO6 to 09, the lower installation frame (c) is not enclosed. Use the inverter's lower installation frame by changing its installation
position.

x2  Use the fixing screws for the standard installation feet of the inverter.

ENcLoseD ITems || 1



2 APPLICABLE MODELS

K Applicable attachment

O —

i

%_g FR-A8CNO1 | FR-A8CNO02 | FR-AS8CNO03 | FR-A8CNO04 | FR-A8CNO05 | FR-A8CN06 | FR-A8CNO07 | FR-AS8CN08 | FR-A8CN09

Q

<
00105(1.5K) 00770(15K)

FR-A820 | 00167(2.2K) 88238?'22 00630(11K) | 00930(18.5K) | 01540(30K) 8;3;8%@ 03160(55K) gi?ggggﬁ; —
00250(3.7K) : 01250(22K)
00023(0.4K)

FRAB40 88%%82(?1'728 00170(5.5K) | 00310(11K) |00470(18.5K) 00770(30K) 8??288;2 B 03250(110K) | 02160(75K)
00083(2.2K) 00250(7.5K)| 00380(15K) | 00620(22K) 01800(55K) 03610(132K) | 02600(90K)
00126(3.7K)

(1) Cut an enclosure to the following dimensions according to the inverter capacity.

FR-A8CNO1 FR-A8CNO02 FR-A8CNO03 FR-A8CN04

‘ 112 ‘ 175 ‘ ‘ 175 ‘ ‘ 200_‘
£ 6—p & e T + a2 b
T TS I el
- % . A i :, - g:: - i
244

0 N~ N~ ~ |

© © o —

" & g " & R 7|8 § 8 g
6-M5 screw © 6-M5 screw o 6-M5 screw o 6-M8 screw ©
[T I8 g .t ) e

K ' & T 4 ! K3 T K ' & T P
136 195 195 ~ 230 !
145 212 212 260
(Unit:mm) (Unit:mm) (Unit:mm) (Unit:mm)
FR-A8CNO05 FR-A8CNO06 FR-A8CNO07
| 290 | 410 470
‘ 265 380 440
I A P S— — —,
& Y 8 & 3 &
1 ® S r Ty RS
© 3 © % B % N
6-M8 st‘:rew 1 4-M10 screw 4-M10 screw
. || 2 || 2
‘ 270 ‘ © L < LR
330 380 410 ‘
440 477
(Unit:mm)
(Unit:mm) (Unit:mm)

2 I APPLICABLE MODELS



FR-A8CNO08

108

810
702

4-M10 screw

780

400
477

E%

()

(Unit:mm)

FR-A8CNO09

. 108

690

582

install the inverter in the enclosure.

660

4-M10 screw
| | e
% < i
‘ 400 ‘
477
(Unit:mm)

Refer to "INSTALLATION PROCEDURE" on page 5 to assemble the attachment to the inverter. After assembly,

« Since the cooling section, which comes out of the enclosure, has a cooling fan, avoid environment with water drops, oil mist,

« Be careful not to drop screws, dust, etc. into the inverter and cooling fan section.

dust, etc.

A gap of approximately 1 mm is left between the FR-A8CN and the inverter. (The inverter is not in an enclosed condition.)

4 OUTLINE DIMENSION DRAWINGS

(- : Enclosure cut dimensions)
FR-ABCNO1 FR-ASCNO02
(140) ) 245 31'3
. 150 - o7 3 | (5.4) 6-06.5 hole 195 g Attachment | 2.3
-6 hole ’(L)‘ E Attachment 24.3 \‘ Z
Ve 4= § ||Penel k e
1 Sl o 0
° 0 d 4 8 e
S 2 2 <
= &
4] L4 — © 9
[0 Q] 7 1|
W)
g 2
® A ¥ =
3 « 2
8 g <
N o -
D | N
+ ¢ N
o, o] —b e | || Panel
& = @ & 5.4)
© 2.3 | "\ Panel Attachment ® = &
Attachment (170)
(Unit:mm) (Unit:mm)

OUTLINE DIMENSION DRAWINGS I 3



FR-A8CNO03
245 21.3
6-06.5 hole 195 o Attachment 23
—_— ©
M— — — % — — 41 Panel
b
® ¢ 1 g g 41
& .
iy ]
I I
| | s
| I 3
\ I g
| | e
| |
I I
| |
LJ N
|
& ol
N Panel
Attachment 89 101 (54)
(190)
(Unit:mm)
FR-A8CNO05
357
326
298 105
4-¢10 hole 290 S5 Attach ¢ 3.2
2-910 hole || B e Panel
| S 5
4]“ @ 3
Y, . L -
L] e
= o
\ |
\ |
1 |
I s
| | ©O|o| <t =
\ | B g
N — \
\ |
\ |
\ |
la \
R R— <
.éfﬁ e < b e Panel
270 ! Attachment 130.8 |64.
- (195)
(Unit:mm)
FR-A8CNOQ7
(518) 105
510.2 132
470
2-912 hole Attachment
Panel
e ———1 & —
| [e = ol
w0
o [ -
I °l] I
[ |
I |
[ |
| — [l |o
— olo
[ — N |
o
[ o J s
e El =
[ |
[ |
[ |
[ |
1> ]
e i i L.Panel
2 =
410 130 | 120
(250)
(Unit:mm)

4 I OUTLINE DIMENSION DRAWINGS

FR-A8CNO04

40.6
6-010 hole ggg &l 123
| Attachment
¥ ] Panel
o 0
| ©
~ p
+ 4 -
of — Il B
\ |
[ I
\ \ 3
| I
| B e
[ I =
[ I
[ I
[ I
(A m
+ T+ S Panel
anel
0| Attachment
o ——————1 967 | 933 ||(9.1)
(190)
(Unit:mm)
FR-A8CNO06
(486)
478.2 55
212 hole 410 Attachment 132
— e Panel
NF Gl g o
3
(=]
1 o0
DOl |
] e} %)
©
N3
°© )
5 3
- : o .
i — S N & Panel
QL = 9 | 154
380 250)
(Unit:mm)
FR-A8CNO08
(518)
510.2 40
2-412 hol 470 Attachment 3.2
- ole
——— = Panel
k! R4 B o 2
w
I§ “I
‘ ‘
° |
| |
‘ | 0
[ o<
| [ — | R1® =
‘ [Te)
| R ©
g i
‘ |
| |
‘ ‘
‘ |
’Iiiiiijﬁ L:P |
12 o © anel
400 = Y 4765 | 1835
(360)
(Unit:mm)



FR-A8CNO09

(518)
510.2 85
470 Attachment %(ﬂ
2-¢12 hole
— = Panel
o o=y 2 |
o i -
[ |
[ |
[ i —f | tel
| 11— 8N 4
© o
[ M o 3
I® 8l =
[ |
[ |
[ |
FP—————_—7 (N
S
12 L o 9 Panel
400 152.3 | 147.7
(300)
(Unit:mm)

S INSTALLATION PROCEDURE

FR-A8CNO1

(e) Cover installation .
screw M4 //,/Fj\\/ B

(b) Upper cover |

(a) Upper installation frame
* Install after making sure

into the groove.

g that the lug is firmly fitted
|
|

= | )
- 1 installation screw M5
(c) Lower B
installation frame

FR-A8CNO03

(e) Cover )
installation *~
screw M4

Sy 3
(d) Upper/lower frame
installation screw M5

y-4
%

ag

7B

/)

(c) Lower
installation frame

FR-A8CNO02

(e) Cover _
installation
screw M4

(d) Upper/lower frame
installation screw M5

(c) Lower
installation frame

FR-A8CNO04

(b) Upper cover -

(e) Cover ==
installation
screw M4

(d) Upper/lower frame
installation screw M8

-

|

|

|

|
‘(c) Lowgr =
installation frame

INSTALLATION PROCEDURE I 5



FR-A8CNO05

. | a) Upper installation
; _rame #],%3

(b) Upper cover
(d) Upper/lower frame

P > installation screw
(e) Cover «—~ ~ I - N

installation o Ta s |

screw M4

|
\
\
\
Sen (h) Left/right frame

(g) Left
installation
frame (f) Right
installation
frame

(c) Lower installation frame ™

(d) Upper/lower frame  ~*~|
installation screw 8

FR-A8CNO7

(d) Upper/lower frame

(b) Upper cover PL,Na”amn screw
2T, -
(\ \ / °l (a) Upper installation
\ , (_frame x1,%3
(e) Cover

installation = ‘. i
screw M4 j :

.

|

|

|

I

| !

g installation screw M4

(h) Left/right frame
Jis
(g) Left
installation
frame
h (f) Right
K installation
frame
D V|
/’ '\_/\,
(c) Lower installation frame *2 -
FR-A8CNO09

‘E (d) Upper/lower frame

(a) Upper installation

(e) Cover - = ; frame *1,%3

installation
screw M4
(h) Left/right frame
installation screw M4
(9) Left
installation
frame
. (f) Right
’ installation
frame

(c) Lower installation frame *2

* installation screw M4

FR-A8CNO06

(a) Upper installation

W*l 3
Jn! (d) Upper/lower frame
i @ installation screw

| ~

(e) Cover «—
installation
screw M4 —

(9) Left Eﬂ\. (h) Left/right frame
installation

frame

2

(f) Right
installation
frame

(c) Lower installation frame *2

FR-A8CNO08

# (d) Upper/lower frame

(b) Upper cover . _ﬂ!n/\/ installation screw

: 4
CNGIE
\ =, |l (a) Upper installation
(e) Cover R . x\j frame x],%3
installaton = | e )
screw M4 |
‘ \
i
I (h) Left/right frame
| installation screw M4

(g) Left
installation
frame % %
= 2| || () Right
- == A .
== installation
frame

%

~

(c) Lower installation frame *2

*]1  When carrying the inverter, do not hold the upper section of the upper installation frame (a). Doing so may change the frame shape.

*2  For the FR-A8CNO6 to 09, change the position of the standard installation feet/lower section and use it instead of the lower installation frame (c).

6 I INSTALLATION PROCEDURE

installation screw M4



*3  For the FR-A8CNO5 to 09, fit the upper cover (b) to the upper installation frame (a) first, and then install the upper installation frame (a) to the
inverter. When the upper cover (b) is installed to the upper installation frame (a), a gap may sometimes remain between the lower part of the
upper cover (b) and the upper installation frame (a). Install the upper cover after checking that no gap exists.

(a) Upper installation

frame

N

(b) Upper cover

Agap may Push the cover so that
be left. there is no gap left.

|

Inverter

x4 Remove the standard installation foot/upper section of the inverter. Use the fixing screws for the standard installation feet to fix the upper

installation frame.

x5 Remove the standard installation foot/lower section of the inverter. Use the fixing screws for the standard installation feet to fix the lower

installation frame.

» When replacing the cooling fan, remove the upper cover (b) and then replace the cooling fan from the opening. (For details
on the cooling fan replacement, refer to the Instruction Manual of the inverter.)

6 DEPTH DIMENSIONS

When a 700 series option unit is replaced with an 800 series option unit, depth requirements outside and inside the enclosure
differ as shown in the shaded area of the table below.

Attachment

Before replacement After replacement
Attachment model | D (mm) | D1 (mm) | Attachment model | D (mm) | D1 (mm)
FR-A7CNO1 97 48.4 FR-A8CNO1 97 48.4
FR-A7CNO02 86 89.4 FR-A8CNO02 86 89.4
FR-A7CNO3 89 106.4 FR-A8CNO3 89 106.4
FR-A7CNO04 88.5 110.6 FR-A8CNO04 96.7 102.4
FR-A7CNO05, 06 123.5 71.5 FR-A8CNO05 130.8 64.2
FR-A7CNO7 96 154 FR-A8CNO06 96 154
FR-A7CN11 97 153 FR-A8CNO7 130 120
FR-A7CN10 176.5 183.5 FR-A8CNO8 176.5 183.5
FR-A7CNO08, 09 116.5 183.5 FR-A8CNO09 152.3 147.7

Attachment _— %f Panel

DEPTH DIMENSIONS I 7



2% MITSUBISHI ELECTRIC CORPORATION

HEAD OFFICE: TOKYO BUILDING 2-7-3, MARUNOUCHI, CHIYODA-KU, TOKYO 100-8310, JAPAN

IB(NA)-0600553ENG-A(1406)MEE Printed in Japan Specifications subject to change without notice.






2 MITSUBISHI ELECTRIC

HEADQUARTERS | | EUROPEAN REPRESENTATIVES | | EUROPEAN REPRESENTATIVES | | EURASIAN REPRESENTATIVES |
Mitsubishi Electric Europe B.V. EUROPE  GEVA AUSTRIA  Beijer Electronics UAB LITHUANIA  TOO Kazpromavtomatika KAZAKHSTAN
Gothaer StralBe 8 Wiener StraBe 89 Gostauty g.3 UL. ZHAMBYLA 28,
D-40880 Ratingen A-2500 Baden LT-48324 Kaunas KAZ-100017 Karaganda

Phone: +49 (0)2102 / 486-0
Fax: +49 (0)2102 / 486-1120

Phone: +43 (0)2252/85 55 20
Fax: +43 (0)2252 / 488 60

Phone: +370 37 262707
Fax: +370 37 455605

Phone: +77212/50 10 00
Fax: +77212/50 1150

Mitsubishi Electric Europe B.V. CZECHREP. 000 TECHNIKON BELARUS  ALFATRADE Ltd. MALTA
Radlickd 751/113e Avenir Business Park Prospect Nezavisimosti 177-9 99, Paola Hill
(Z-158 00 Praha 5 BY-220125 Minsk Malta-Paola PLA 1702
Phone: +420 251551470 Phone: +375 (0)17 /393 1177 Phone: +356 (0)21/697 816
Fax: +420 251551471 Fax: +375 (0)17 /393 0081 Fax: +356 (0)21/697 817
Mitsubishi Electric Europe B.V. FRANCE  ESCO DRIVES BELGIUM  INTEHSIS SRL MOLDOVA
25, Boulevard des Bouvets Culliganlaan 3 bld. Traian 23/1
F-92741 Nanterre Cedex BE-1831 Diegem MD-2060 Kishinev
Phone: +33 (0)1/55 68 5568 Phone: +32(0)2/717 64 60 Phone: +373 (0)22 / 66 4242
Fax: +33 (0)1/55 68 57 57 Fax: +32(0)2/717 64 61 Fax: +373 (0)22/ 66 4280
Mitsubishi Electric Europe B.V. IRELAND  KONING & HARTMAN B.V. BELGIUM  HIFLEX AUTOM. B.V. NETHERLANDS
Westgate Business Park, Ballymount Woluwelaan 31 Wolweverstraat 22
IRL-Dublin 24 BE-1800 Vilvoorde NL-2984 (D Ridderkerk
Phone: +353 (0)1 4198800 Phone: +32 (0)2 /257 02 40 Phone: +31(0)180/ 46 60 04
Fax: +353 (0)14198890 Fax: +32(0)2 /257 0249 Fax: +31(0)180 /44 23 55
Mitsubishi Electric Europe B.V. ITALY  INEARBT d.o.0. BOSNIA AND HERZEGOVINA  IMTECH MARINE & OFFSHORE B.V. NETHERLANDS
Viale Colleoni 7 Palazzo Sirio Stegne 11 Sluisjesdijk 155
1-20864 Agrate Brianza (MB) S1-1000 Ljubljana NL-3087 AG Rotterdam
Phone: +39039/6053 1 Phone: +386 (0)1/513 8116 Phone: +31(0)10/487 19 11
Fax: +39039/6053 312 Fax: +386 (0)1/513 8170 Fax: +31(0)10/ 487 1692
Mitsubishi Electric Europe B.V. NETHERLANDS ~ AKHNATON BULGARIA  KONING & HARTMAN B.V. NETHERLANDS
Nijverheidsweg 23a 4, Andrei Ljapchev Blvd., PO Box 21 Energieweg 1
NL-3641RP Mijdrecht BG-1756 Sofia NL-2627 AP Delft
Phone: +31(0) 297250350 Phone: +359 (0)2 /817 6000 Phone: +31(0)15 260 99 06
Mitsubishi Electric Europe BJY. POLAND Fax: +359 (0)2 /97 4406 1 Fax: +31(0)15 2619194
ul. Krakowska 50 INEACR CROATIA  Beijer Electronics AS NORWAY
PL-32-083 Balice Losinjska 4 a Postboks 487
Phone: +48 (0) 12630 47 00 HR-10000 Zagreb NO-3002 Drammen
Fax: +48 (0) 12630 47 01 Phone: +385 (0)1/36 940 - 01/-02/-03 Phone: +47(0)32 /2430 00
Mitsubishi Electric Europe B.. RUSSIA Fax: +385 (0)1/36 940 - 03 Fax: +47(0)32/84 8577
52, bld. 3 Kosmodamianskaya nab 8 floor AutoCont C. S. S.R.0. CZECH REPUBLIC  Fonseca S.A. PORTUGAL
RU-115054 Moscow Kafkova 1853/3 R. Jodo Francisco do Casal 87/89
Phone: +7 495 /7212070 (Z-702 00 Ostrava 2 PT-3801-997 Aveiro, Esgueira
Fax: +7495/721 2071 Phone: +420 595691 150 Phone: +351(0)234 /303 900
Mitsubishi Electric Europe B.. SPAIN Fax: +420 595691199 Fax: +351(0)234/303 910
Carretera de Rubi 76-80 Apdo. 420 Beijer Electronics A/S DENMARK  SIRIUSTRADING & SERVICES SRL ROMANIA
E-08190 Sant Cugat del Vallés (Barcelona) Lykkegardsvej 17 Aleea Lacul Morii Nr. 3
Phone: +34 (0) 93 /5653131 DK-4000 Roskilde R0-060841 Bucuresti, Sector 6
Fax: +34 (0) 93 /5891579 Phone: +45 (0)46/ 7576 66 Phone: +40 (0)21/ 430 40 06
Mitsubishi Electric Europe B.V. (Scandinavia) SWEDEN Fax: +45 (0)46/75 56 26 Fax: +40(0)21/4304002
Fjelievagen 8 HANS FOLSGAARD A/S DENMARK  INEASRd.o.0. SERBIA
SE-22736 Lund Theilgaards Torv 1 Ul. Karadjordjeva 12/217
Phone: +46 (0) 8 625 10 00 DK-4600 Koge SER-11300 Smederevo
Fax: +46 (0) 46397018 Phone: +45 4320 8600 Phone: +386 (026) 461 5401

. R T Fax: +45 4396 8855 < ]
Mitsubishi Electric Turkey Elektrik Uriinleri A.S. TURKEY - SIMAP SK (Zapadné Slovensko) SLOVAKIA
Fabrika Otomasyonu Merkezi Beijer Electronics Eesti OU ESTONIA  Jana Derku 1671
Serifali Mahallesi Nutuk Sokak No.5 Pérnu mnt.160i SK-911 01 Trencin
TR-34775 Umraniye-ISTANBUL EE-11317 Tallinn Phone: +421(0)32743 0472
Phone: +90 (0)216 / 526 39 90 Phone: +372 (0)6 /518140 Fax: +421(0)3274375 20
Fax: +90 (0)216 / 526 3995 Fax: +372(0)6 /518149 INEA RBT d.00. SLOVENIA
Mitsubishi Electric Europe B.V. UK Beijer Electronics OY FINLAND  Stegne 11
Travellers Lane Vanha Nurmijérventie 62 $1-1000 Ljubljana
UK-Hatfield, Herts. AL10 8XB FIN-01670 Vantaa Phone: +386 (0)1/513 8116
Phone: +44 (0)1707 / 28 87 80 Phone: +358 (0)207 / 463 500 Fax: +386 (0)1/513 8170
Fax: +44 (0)1707 / 27 86 95 Fax: +358 (0)207 / 463 501 Beijer Electronics Automation AB SWEDEN
Mitsubishi Electric Europe B.V. UAE  PROVENDOR OY FINLAND  Box 426
Dubai Silicon Oasis Teljankatu 8 A3 SE-20124 Malméd
United Arab Emirates - Dubai FIN-28130 Pori Phone: +46 (0)40 /35 86 00
Phone: +9714 3724716 Phone: +358 (0) 2 /522 3300 Fax: +46 (0)40 /9323 01
Fax: +9714 3724721 Fax: +358 (0) 2 /5223322 OMNIRAY AG SWITZERLAND
Mitsubishi Electric Corporation JAPAN  UTECOA.B.EE. GREECE  Im Schorli 5
Tokyo Building 2-7-3 5, Mavrogenous Str. CH-8600 Diibendorf
Marunouchi, Chiyoda-ku GR-18542 Piraeus Phone: +41 (0)44 / 802 28 80
Tokyo 100-8310 Phone: +30 (0)211/ 1206-900 Fax: +41(0)44 / 802 28 28
e g orge Fax: +30(0)211/1206-999 000“CSC-AUTOMATION” UKRAINE

- MELTRADE Kft. HUNGARY  4-B, M. Raskovoyi St.
Mitsubishi Electric Automation, Inc. USA  Fertd utca 14. UA-02660 Kiev
500 Corporate Woods Parkway HU-1107 Budapest Phone: +380 (0)44 / 494 33 44
Vernon Hills, IL 60061 Phone: +36 (0)1/431-9726 Fax: +380 (0)44 / 494-33-66
Phone: +1(847) 478-2100 Fax: +36 (0)1/431-9727
Fax: +1(847) 478-0328 Beijer Electronics SIA LATVIA
Ritausmas iela 23
LV-1058 Riga

‘ MITSUBISHI
AN ELECTRIC

Changes for the Better

Phone: +371(0)6 / 784 2280
Fax: +371(0)6 / 784 2281

MIDDLE EAST REPRESENTATIVE

1.C. SYSTEMS Ltd.

23 Al-Saad-Al-Alee St.
EG-Sarayat, Maadi, Cairo
Phone: +20 (0) 2/ 23598 548
Fax: +20 (0) 2/ 23596 625

SHERF Motion Techn. Ltd.
Rehov Hamerkava 19
1L-58851 Holon

Phone: +972 (0)3 / 559 54 62
Fax: 4972 (0)3 /556 01 82

CEGLIBAN

Cebaco Center/Block A Autostrade DORA
Lebanon-Beirut

Phone: +961 (0)1/240 445

Fax: +961(0)1/240193

EGYPT

ISRAEL

LEBANON

AFRICAN REPRESENTATIVE

ADROIT TECHNOLOGIES SOUTH AFRICA
20 Waterford Office Park 189 Witkoppen Road
ZA-Fourways

Phone: +27 (0)11/658 8100

Fax: +27 (0)11/658 8101

Mitsubishi Electric Europe B.V. / FA - European Business Group / Gothaer Stral3e 8 / D-40880 Ratingen / Germany /
Tel.: +49(0)2102-4860 / Fax: +49(0)2102-4861120 / info@mitsubishi-automation.com / https://eu3a.mitsubishielectric.com



	Heatsink Protrusion Attachment 

<FR-A8CN01 to 09>
	SAFETY INSTRUCTIONS
	1 ENCLOSED ITEMS
	2 APPLICABLE MODELS
	3 ENCLOSURE CUT DIMENSIONS
	4 OUTLINE DIMENSION DRAWINGS
	5 INSTALLATION PROCEDURE
	6 DEPTH DIMENSIONS

